*

" - MathShed

* . *Year §)
Quick Maths

Autumn - Week 1

@ Fad)

T |
iR




Year 6 | Quick Maths | Autumn | Week 1 | Day 1

MathShed

1l | 5,734 + 100 = /1
2 | 84+ =1 /1
3| 5x3x0x2%x4=__ /1
4 | 34,000 - 2,753 = /1
D | 6 X 12 = /1
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Year 6 | Quick Maths | Autumn | Week 1| Day 1| Answers Mathsﬁej

15,734 + 100 = 5,834 n
2 84 + 12 =17 n
3| 5x3x0x2x4= 0 n
4 | 34,000 - 2,753 = 31,241 n
5 6x12= /2 n
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Year 6 | Quick Maths | Autumn | Week 1 | Day 2
l | 717 + 3 = n
2 | 36,053 + 8,945 = /1
3| 3,675,000 = 1,000 = n
4 | 3x5+5x4= /1
> % /1
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Year 6 | Quick Maths | Autumn | Week 1 | Day 2 | Answers

MathShed

l | 717 =+ 3 = 239 /1
2 | 36,053 + 8,945 = 45,998 n
3 | 3,675,000 = 1,000 = 3,675 n
4 | 3 x5+ 5% 4= n
> % T % ~ g /1
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Year 6 | Quick Maths | Autumn | Week 1 | Day 3

MathShed

l | 672 + 4,385 = 372 + 0
2 | 376 x 15 = /1
3 | 64,000 =4 x x 1,000 i
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MathShed

Year 6 | Quick Maths | Autumn | Week 1 | Day 3 | Answers
1 672 + 4,385 =372 + 4,685 n
2 376 x 15 = 5,640 n
3 64,000=4x 16 x 1,000 n
4 1% =1 % 3 /1
° % 2= % /1




Year 6 | Quick Maths | Autumn | Week 1 | Day 4 MathS“ej

l | 583 + 6,279 = 6,583 + /1

2 | 489 x 15 = 1

3 | 48,000 = 1,000 x X 12 /1
—_ 3

4 13 X 4 /1
2 _

5 S+ 3 = P




Year 6 | Quick Maths | Autumn | Week 1 | Day 4 | Answers

MathShed

1l 583 + 6,279 =6,583 + 2/9 n

3 148,000 =1,000x 4 x 12 n
12 3

4 13 - 13 % 4 /1
2 . o 2

> [3F3=3 /1
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vear 6 | Quick Maths | Autumn | Week 1| Day 5 Mathshed
1 | 981 = 3 = )
2 | 48,047 + 9,952 = B
1 5
4 | 2,960 = 16 = p
1 1 1
> 212 %5" /1




Year 6 | Quick Maths | Autumn | Week 1 | Day 5 | Answers

MathShed

1l 981 =3 = 327 n
2 | 48,047 + 9,952 =57,999 n
1 5 _ 7
3 3Z + 25 ~ 58 /1
4 | 2960 =16 = 185 "
1,1 _,1_ 6 3
> 2 T 2%55 120973 /1




